DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
211) 25801 = & = 22600 42158 = 8 =
212) 5320 = 1 = 227) 55514 +6 =
213) 33440 =— 6 = 228) 23600 = 3 =
21 19667 + 6 = 29 3140 + 1 =
215) 8391 = 1 = 20) 66745 =7 =
216) 20198 = 4 = 231) 68056 + 8 =
217 62030 = 7 = 232) 24567 -4 =
218) 24680 = 3 = 233) 83924 = 9 =
219) 7380 = 4 = 239 93103 = 10 =
20) 867H = 3 = 235) 62692 + 7 =
21) 30663 = 9 = 236) 13247 =6 =
222) H8G = 5§ = 237) 13824 =+ 3 =
223) 26807 = 5 = 233 33804 = 8 =
21) 9584 =~ § = 239) 39425 =7 =
225) 86172 + 10 = 2100 28218 +6 =
Mathematics: Division - Level § - Horizontal - Set 3 9 culu
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